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Questions 1-8: 3 points
Questions 9-16: 4 points
Questions 17-24: 5 points
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1. Néca {wa utTTdpXouV OTNV EIKOVA;

How many animals are in the picture?
A)3
B)4

C)5
D) 6
E) 7

2. Molo KoppdaTI TaIpIadel oTOV KEVO(AOTTPO) XWPO;
Which piece fits in the empty(white) place?

A).B) ' C)‘ D) ' E).

3. Néoa wédia éxouv 6Aa Ta {wa padi;
How many legs do the animals have altogether?

Sk

A) 5 B) 10 C) 12 D) 14 E) 20
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4. H EAévn éypaye Tnv AéEn KANGOUROU dUo @opés. Mooeg popég Eypaye TO Ypdupa A;
Helena has written down the word KANGOUROU twice. How many times did she write
the letter A?

A) 1 B) 2 C)3 D) 4 E)6

5. O Aoukdg eravaAapBavel Ta id1a 4 autokKOAANTA OTN YPOAUMA HE OEIpd.

Luke repeats the same four stickers on a strip.

o1&

Moio gival To 8ékato auTokOAANTO TTOoU Ba BaAel 0 AOUKAg oTnV Bé0on TOU

£PWTNHATIKOU;
Which is the tenth sticker put by Luke?

0 w & W &

6. Tnv Napaokeun o KwoTtag §ekivnoe va {wypa@iler Tn Aé§n B A N A N A. KdBe pépa
{wypa@ifel éva ypduua. Mola pépa Ba {wypagioel To TeEAEUTAIO YPAUMA;
A) Acutépa B) Tpitn C) Terdptn
D) Méptrtn E) Mapaokeun

On Friday Dan starts to paint the word B A N A N A. Each day he paints one letter. On
what day will he paint the last letter?

A) Monday B) Tuesday C) Wednesday

D) Thursday E) Friday

7. Mola a1rd TIG M0 KATW YPOAMHES €XEI TO HEYOAUTEPO MNAKOG;

Which of the following lines is the longest?

A B C D E

A) A B) B c)C D) D E)E



THALES FOUNDATION
Kangourou International Maths Competition (Level 1-2)

8. H Karepiva gival o€ pia Bapka péca otn Aipvn. Nwg BAétrel To SEVTpo Kal TO Peyydpl HEoa
oTtn Aipvn;
Katjais in a boat on a lake. Which of the pictures does she see in the lake?

A)

D)

9. 13 raudid Traifouv KpueTo. ‘Eva raidi @uAdel Kai ol uttéAoitro Kpuovral. MeTd amd Aiyo
Bpiokel Ta 9 Traudid. Néoca maidid KpUBovTal AKOMA;
13 children are playing hide and seek. One of them is the “seeker”. After a while 9 children
have been found. How many children are still hiding?
A3 B) 4 C)5 D)9 E) 22



10.

11.

12.
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O mrarépag aTrAwWVEl TNV PTTOUYAdda 0TO OXOoIVi. OEAEI va XpNOIUOTTOIRCEl 600 TTIo Aiyd
HavTaAdkia yivetal. Na 3 reToéteg Xpeladeral 4 JavTaAdKIa, OTTWGS QAIVETAI OTNV EIKOVA.
Moéoca pavraAdkia 0a XpelaoTEl yia 9 TTETOETEG;

Father hangs the laundry outside on a clothesline. He wants to use as few pegs as possible.
For 3 towels he needs 4 pegs, as shown. How many pegs does he need for 9 towels?

A)9 B) 10 C) 12 D) 16 E) 18

ZApepa n MNwTta TpoéoBeoe TRV nAIKia TG Kai TNV NAIKia TNG adeA@Ng TNG Kal BPRKe
atmroTéAeopa 10. NMéoco Ba gival To atroTéAeopa 6Tav TPooBEoel TRV nAIKia TnG Kal TRV nAIKia
TNG adeAPNG TNG PETA aTTO £va XPOVO;

Today, Betty added her age and her sister’s age and obtained 10 as the sum. What will
the sum of their ages be after one year?
A)5 B) 10 C) 11 D) 12 E) 20

To poAdi Beixvel TRV WpPA TTOU 0 ZTEPAVOS OXOAdEl aTrd To OXOAgio. To peonuepiavé yeupa
oTO OXOAgio Eekivd 3 wpeg TPIVv oXoAdoel. TI wpa EKIVA TO HECTNHEPIOVO YEUUA;
The clock shows the time when Stephen leaves his school. School lunch starts 3 hours

before school ends. At what time does lunch start?

A1l B) 2 D) 11 E) 12
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13. 'Evag dpdkog £xel 3 kepdAia. KdBe gpopd TTou 0 Rpwag Tou KOBEI To éva KEQAAI, Byaivouv 3
véa Ke@aAia. O Rpwag Tou KOREeI TO Eva KEPAAI KAl HETA aTTd Aiyo akopa éva. NMNéoca ke@daAia
£XElI TWPA 0 dPAKOG;

A dragon has 3 heads. Every time a hero cuts off 1 head, 3 new heads emerge. The hero cuts
1 head off and then he cuts 1 off head again. How many heads does the dragon have now?
A) 4 B)5 C)6 D)7 E) 8

14. Ta aotépia, Ta @UAAQ, Ta dwpa Kal Ta dévTpa eTTavAAAUBAVOVTAI CUVEXWS CTOV IO KATW
Tivaka. Za@vikd XU0nKe XUNOG OTOV TTiVOKO Kol KATTOIES £1IKOVEG Bev @aivovTal. Mooca
QO TEPIA UTTHPXAV OTOV TTiVOKA TTPIV XUOEI 0 XUMOG;
Stars, clovers, gifts and trees repeat regularly on a game board. Some juice was spilt on the

board. As a result some pictures can’t be seen. How many stars were on the board before
A7) b | Y

the juice was spilt?

A)3 B) 6 C)8 D)9 E) 20

15. H EUn éxel @pépel 12 kapapéAeg, n AAikn 9 kapapéAeg kai n EipRivn dev éxel @épel Kapid
KapapéAa. ERBaAlav 6Aeg TiIg KapapéAeg padi oTo TPATTE] KAl ATTOQACICAV VA TIG HOIPATOoUV
ioa petagu Toug. MNoéoeg kapapéAeg Ba TApel n KaBepia;

Eve brings 12 candies, Alice 9 candies and Irene doesn’t bring any candy. They put all the
candies together on a table and divide them equally among themselves. How many candies
does each of the girls get?

A) 3 B)7 C)8 D)9 E) 12
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16. O Oe6dwpog BAETTEI TIG 7 HETASWTEG {WYPAPIEG OTOV TOIXO0. ZTA APICTEPA BAETTEI TOV
Opdko kal ota dedid TnV TTeETAAoUda. Molo {wo gival aplIoTEPA TTOU Tiypn Kal Tou AlovTapiou,
Kal oTa d&§1d TOU BEPIKOKOU;

Tim is looking at seven silk paintings on a wall. At the left he sees the dragon and on the

right the butterfly. Which animal is on the left of the tiger and the lion, and on the right of the

apricot?

17. O Touivi To Apkouddkl ayopace 4 UnAOTITEG Kal 0 QiAog Tou o Nkdpn aydépaoce 6 KEIK
TUp10U. NMARpwoav Ta idia Kal TARpwoav Kai o1 500 pali 24 eupw. MNoéoca eupw KooTilel 1 KEIK
TUPIOU;

Winnie the Pooh bought 4 apple pies and Eeyore bought 6 cheese cakes. They paid the same
and together they paid 24 euros. How many euros does 1 cheese cake cost?
A) 2 B) 4 C)6 D) 10 E) 12

18. O Tlak To oTtroupyitTn TTNOA O éva GPAKTN ATTé TNV pia Béon oTnv GAAN 6TTWG @aiveTal
oTNV €IKOva KATw. KdBe dApa tng traipvel 1 deutepdAemrto. To omroupyitn kdvel 4 dApara
HTTPOOTd, 1 dApa TTiow Kal §avd 4 dApata PTrpooTd Kal 1 miow KAT. X& TTéoa deuTepOAETTTA
o T¢dk 0a trael amrd Tnv APXH oto TEPMA;

Sparrow Jack jumps on a fence from one post to another. Each jump takes him 1 second. He
makes 4 jumps ahead, then 1 jump back and again 4 jumps ahead and 1 back etc. In how
many seconds does Jack get from START to FINISH?

““'x&;ﬁf
AAAAAAAAAA/
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APXH [&—| A PI'I > TEPMA
R L o
RO N EE PR HE A A AP
! B H
A) 10 B) 11 C) 12 D) 13 E) 14
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H viayid épriage 11 pmiokora. Alakdopnoe 1a 5 PITIOKOTA pE OTOQPIOEG KAl META 7
HTTIOKOTA pE apuydala. Moéoca PITIOKOTA TOUAAXIOTOV SIOKOOMNOCE KOl HE OTAQPIOEG KAl ME
auUydalAq;

Grandmother made 11 cookies. She decorated 5 cookies with raisins and then 7 cookies with
nuts. At least how many cookies were decorated with both raisins and nuts?
A1l B) 2 C)5 D)7 E) 12

2e éva oxOoAIkO TdpTi, o Avdpéag, o MNétpog kKai o KwoTag mApav pia cakoUAa pe 10
KapauéAeg o KaBévag. KaBéva amd Ta ayopia éxel @dsl TOuAdyxioTov ammd 1 kKapapéAa Kai
£dwoe 1 kapapéAa oTov SAoKaAOS. Mooeg KapapéAeg Toug £€Xouv peivel Kal Toug 3 padi.

At a school’s party Dan, Jack and Ben each received a bag with 10 candies. Each of the boys
ate just 1 candy and gave 1 candy to the teacher. How many candies did they have left
altogether?

A) 8 B) 10 C) 24 D) 27 E) 30

Moi1og apiBuég kKpUReTAl KATW ATT6 TO AOUAOUDI;

What number is covered by the flower?
O+A=3
AN+/A\=4
A+[]=5

O+O=%

Al B) 2 C)3 D) 4 E)5

H Avva éxel TToAAG amd auTd Ta ‘ | ToUBAa. [léoca amdé Ta MO KATW OXAMATA

pTTOpPEl Va @TIAEElI N Avva 6Tav KoOAAR o€l padi dU0 atrd autd Ta TOURAQ;

Ann has a lot of these \ | tiles. How many of the following shapes can Ann make

by gluing together two of these tiles?

A)O B)1 C)3 D) 4 E)5
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23. Xg éva peydAo KouTi UTTdpXouV 3 HIKPOTEPA KOUTIA Kal TO KOBEva atrd auTtd trepléxel 3 mio
MHIKPpG KouTid. NMéoca KouTId UTTAPXOUV GUVOAIKAY;
In a box there are three boxes, each one of which contains three smaller boxes. How many
boxes are there in total?
A)9 B) 10 C) 12 D) 13 E) 15

24. ZTOV IO KATW TivaKa UTTAPXOUV Vopiopata. OéAoule va utrdpyouv U0 vopiopata o€
KABe oTAAN Kai 2 voliopaTta o€ KaBe ypauuni. Moéca vopioparta 0a Tpétrel va a@aipedoly;
There are coins on the board. We want to have 2 coins in each column and 2 coins in each
row. Hoe many coins need to be removed?

-

O
o
O

A)O B) 1 C) 2 D) 3 E) 4




